H & 0l & AHS B Ml A

0288x =4 2 3| sSHAZEIACIAMSSEH &H

Hu: (o 53EN 29
CHol: ARISTEX| R2l(SBEXTLURRIAL S (ol a2
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
SXRXI 6,801,044 2,252,631 4,548,413
2 864,000 0 864,000
< 925,000 75,000 850,000
Al 5,012,044 2,177,631 2,834,413
Mt 5BER 2Y 6,800,797 2,252,384 4,548,413
2 864,000 0 864,000
= 925,000 75,000 850,000
Al 5,011,797 2,177,384 2,834,413
ARIEDO B2l(SRUXELLBEIALSSHS|H) 6,800,797 2,252,384 4,548,413
2 864,000 0 864,000
= 925,000 75,000 850,000
Al 5,011,797 2,177,384 2,834,413
MRS JIEE U 29 2,348,572 2,078,572 270,000
307 D121 1,124,000 934,000 190,000
05 BIRISIES 1,124,000 934,000 190,000
OJIYTA BBELHIAIL 2r2IcHs
A 760,000,002 760,000 720,000 40,000
OR% - S5t ZBEHAHIAIL A
NEBE) X 23 300,000,000 300,000 150,000 150,000
401 AIEHIL 2B 894,000 814,000 80,000
01 Al 894,000 814,000 80,000
OMAEBE JIBAIE SN2+
24 374,000,009 374,000 294,000 80,000
SUETEX L2IIAIL 24 1,700,000 0 1,700,000
= 850,000 0 850,000
Al 850,000 0 850,000
401 AlBI L 2OH8] 1,700,000 0 1,700,000
= 850,000 0 850,000
Al 850,000 0 850,000
01 Al 1,700,000 0 1,700,000
OSUA=ZEX LSIIPAL B4
1,700,000, 000214} 1,700,000 0 1,700,000
= 850,000 0 850,000
Al 850,000 0 850,000
ollb1 | 38,225 23,812 14,413
801 Gl1H I 38,225 23,812 14,413
01 LBHoiUIt] 38,225 23,812 14,413
Ooiblbl A% 38,225,002 38,225 23,812 14,413
SUSTANACK SSFME 2AY 1,764,000 0 1,764,000
= 864,000 0 864,000
Al 900,000 0 900,000
401 AIEHIL 2B 1,764,000 0 1,764,000
= 864,000 0 864,000
Al 900,000 0 900,000
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